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Question Number : 1 Question Id : 68634041121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634041123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634041124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340162415. 3
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Question Number : 5 Question Id : 68634041125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634041120 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
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Question Number : 1 Question Id : 68634041121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634041122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634041123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634041124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Is Section Default? : null

Question Number : 6 Question Id : 68634041126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634041126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634041127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634041127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634041128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634041128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634041129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634041129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634041130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634041130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634041131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634041131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634041132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634041132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634041133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634041133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634041134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634041134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634041135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634041135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634041136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634041136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634041137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634041137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634041138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634041138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634041139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634041139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634041140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634041140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g YT & 6 TdaR 1983 P §HT U Sl U IAGaR U, ol 1984 T TS TG HIg & fohd T
TS

1. 9HaR
2, §YaR
o

4. FehdR

Options :

686340162477. 1
686340162478. 2
686340162479. 3
686340162480. 4

Question Number : 21 Question Id : 68634041141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt 3 3o 4 & ufka: aRkyme B el & THE Seig safd e S 3 HEIAAIg

1. Ydia 3uTg
TP 39T

1. RfdP uUg
4, YT (INSAT)

Options :

686340162481. 1
686340162482. 2
686340162483. 3
686340162484. 4

| )

[#5]

Question Number : 21 Question Id : 68634041141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gedt F 3T 4 & TRk afvymor 9 el & T Sefig safd o SuE S HEI g
1. Ydi I9Ug

2. Rfdd IuIg

3. Y- WdP UUE

4. ST (INSAT)
Options :

686340162481. 1
686340162482. 2
686340162483. 3
686340162484. 4

Question Number : 22 Question Id : 68634041142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
LIST1 LIST I
TEgHIT=a" ST IH
A [dTcd] L BRids
B. [Eacid! I1. [l
C. [HRdY UcgHi—aH Hu-l 111 [PRIYE
D. el IV. [9@c
FofRad fAeel & T 981 31 &1 98- Bifod -

1. A-IIL. B-1. C-IV, D-II
2. AL B-IV, C-1, D-III
3. A-IIL B-IV. C-1. D-II
4. A-IL B-1. C-IV. D-III

Options :

686340162485. 1
686340162486. 2
686340162487. 3
686340162488. 4

Question Number : 22 Question Id : 68634041142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

LIST I LIST I
TEgH g™ U=l T

A [ETcd! 1 ERigs

B. [EeTam! 1. [FRa

C. [HRd™ TegdIag St 1L [PRIIE

D. [Free] V. Rq@e

FofaRad Aol & T 98! 3 &1 98- Fife -

1. A-IIT. B-1. C-IV. D-II
2. A-IL B-IV. C-1. D-11I
3. AL B-IV. C-1. D-II
4. A-TI B-1, C-IV, D-1I1

Options :

686340162485. 1
686340162486. 2
686340162487. 3
686340162488. 4

Question Number : 23 Question Id : 68634041143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR (3ieHe) TUG o U G Bl dlei 4§ A 3R 3 G G&H &l GIcl & o (o0 Hg bl 6|
43 "edl [y 9 § ol Sl g

1. RIPER
_9& aRada

IS-01S
4. 9T TR 9HYUr

Options :

686340162489. 1
686340162490. 2
686340162491. 3
686340162492. 4

| )

[#5]

Question Number : 23 Question Id : 68634041143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR (3h8) TG & Uh Jad i alar § Ad 3R 30 GIR Fad &1 aa o P (070 Hg 9Pl 6|
gg Yol g v 7 ol 5t 81

1. RPER
1&g afyad

IB-TTS
4. e TR IHY0r

Options :

686340162489. 1
686340162490. 2
686340162491. 3
686340162492. 4

[

L]

Question Number : 24 Question Id : 68634041144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

I I
A |3 gae 1 [FTOre T AT
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [4r=re Giaw T 1v. [ [dadg
fafead faeedl O I 98l SR &1 9494 Sifut

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340162493. 1
686340162494. 2
686340162495. 3
686340162496. 4

Question Number : 24 Question Id : 68634041144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I I
A |3 gue 1 [FTare o AR
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [grere giag i 1v. [ [dadg
fafafad faeedl & O 98l IR &1 994 I ;

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340162493. 1
686340162494. 2
686340162495. 3
686340162496. 4

Question Number : 25 Question Id : 68634041145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YebU T S BT % (b ¥U & S &Il §
1. YU oA
2. 49 (BIHH)

& a
1. it

Options :

686340162497. 1
686340162498. 2
686340162499. 3
686340162500. 4

Question Number : 25 Question Id : 68634041145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& T FA BT F% (59 39 H ST STl &

1. YT oA
2. 7 (W)
3, UBIRHS
4. HfUPZ

Options :

686340162497. 1

686340162498. 2

686340162499. 3
686340162500. 4

Part B: Commerce

Section Id : 686340810
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401354
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634041146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A new business was set up on 16 November 2022 and 1t commenced its business from 15 December 2022. The
first previous year for this business 1s :

1. 1 April 2022 to 31 March 2023
2. 16 November 2022 to 31 March 2023
3. 15 December 2022 to 31 March 2023
4.1 April 2023 to 31 March 2024
Options :
686340162501. 1

686340162502. 2
686340162503. 3



686340162504. 4

Question Number : 26 Question Id : 68634041146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U =01 S 16/11/2022 1 RIMUT §311 SR 38 15/12/2022 ¥ YA SRIAR SRY 6411 39 HTHY

& U g Savs av & -
1. 1/4/2022 ¥ 31/3/2023

- 16/11/2022 9§ 31/3/2023

| )

3. 15/12/2022 ¥ 31/3/2023

4. 1/4/2023 ¥ 31/3/2024

Options :

686340162501. 1
686340162502. 2
686340162503. 3
686340162504. 4

Question Number : 27 Question Id : 68634041147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Agricultural income is totally exempted. provided it falls with in the definition of agricultural
income given under section 2 (1A).

Statement II: Any sum received by an individual as a member of a Hindu Undivided Family, shall be taxable
in the hands of the member.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340162505. 1
686340162506. 2
686340162507. 3
686340162508. 4

Question Number : 27 Question Id : 68634041147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERARICACuRI A
HUF 1 P 310 R G Fe e § afe 98 $M M Ft 4R12 (1A) B IRU & farfd smdt g1
T 11 AU fig IRaR & 95 & =4 1. U@ ofad gRI U Sy H M T &1 $= g g
SWRIS Y & HTalid 1, H1d fay 7Y fdeedi T I 99 U STk &1 99+ S

1. BYT1 AR 11 ST T8T §

2. HYTI AR SHI Tad &

3. PYF I Tel 8. AfpT sy n Tad 8

4 PYTITTEd. AP HYT I 98l ©

Options :

686340162505. 1
686340162506. 2
686340162507. 3
686340162508. 4

Question Number : 28 Question Id : 68634041148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
The value as determined by the municipal
A lauthorities for levving municipal taxes 1. [Expected Rent

on house property
The rent which a similar property can fetch
B. |in the same or similar locality if it 15 let for | IT. |[Fair Rent

a vear
c The rent which is fixed under the Rent 1L Ktandard Rent
Control Act
Higher of Municipal value or fair rent but - PMunicipal
B B IV.
limited to standard rent value

Choose the correct answer from the options given below:

1. A-I. B-III. C-I1. D-IV
2. AL B-III. C-1. D-IV
3. A-IV. B-1. C-I1. D-III
4. A-IV. B-1I. C-111. D-I

Options :

686340162509. 1

686340162510. 2

686340162511. 3
686340162512. 4



Question Number : 28 Question Id : 68634041148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

A1

A RO Tt §R1 T8 YUl & &1 37e] & (o1¢ HulRd gcd I [3maiéd fzmm

“ U Y2 §Ud ol G2 o gl 91 391 Salh H 3add &2 9ddl 6 Uig 34 UP a8 o o1l fhelg i ——
R fear S '

C. [ag faman i fosaran 00 ST & Jiaeid HeiRd foan S g 111 [H1-7h Teaaran

D. [FRUIfei®] Jedi ¥ Iwar 91 3fed (6l cifds A1 (b b i V. ’i?q;

frafarad fomed & I 96t SR &1 =04 S ;

1. A-I. B-I11. C-I1. D-IV
2. A-IL B-IIL. C-1, D-IV
3. A-IV. B-1. C-II. D-III
4. A-TV. B-11. C-111. D-I

Options :

686340162509. 1

686340162510. 2

686340162511. 3
686340162512. 4

Question Number : 29 Question Id : 68634041149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In computing the total income of an individual being a person with disability. a deduction under section 80U

share be allowed if certain conditions are satisfied. The quantum of such deduction 1s :

A. 2 50,000 in case of a person with disability

B. T 75,000 in case of a person with disability

C. 2 1.00.000 in case of a person with severe disability

D. 2 1,25.000 in case of a person with severe disability

E. 2 2.00.000 in case of a person with disability or severe disability

Choose the correct answer from the options given below:

1. B. D only

| )

. E only
3.A.D.E only

4. B. C only




Options :

686340162513. 1
686340162514. 2
686340162515. 3
686340162516. 4

Question Number : 29 Question Id : 68634041149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% [aaiT fad @1 $d 314 P IUATE, URT 80 U F 3faid deral di sFAf ayl <1 o ok oo
vl ®1 R ST o | Uit el B v

A=, 50,000 39 O H Sl Safad fadbain gl

B. . 75,000 39 HHd H gl Hfad [db i &l

C. . 1,00.000 39 G H el odfad THR &4 I f[dsdi gl

D. ¥. 1,25.000 39 HHd H Wef odfad THR =4 I f[dsai gl

E. . 2.00.000 39 HHd ¥ Wei odfad famai g1 4R =49 I fawdai el

e fau o faoredi 5 O 9gl IR &1 90+ DI

1. $dd B AR D
2. PAdE
3. HBAAA. D 3RE
4. HIAB AR C

Options :

686340162513. 1

686340162514, 2

686340162515. 3
686340162516. 4

Question Number : 30 Question Id : 68634041150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The minimum number of members required to form a private company is 7.

Statement II: The restriction as to maximum number of companies of which a person may be appointed as
director, 13 10 in case of private company.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

686340162517. 1
686340162518. 2
686340162519. 3
686340162520. 4

Question Number : 30 Question Id : 68634041150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEARICACe Rl

HYF L USP (ol B! & FH0 B & [0 AaH Gad] B STaad &1 7§

gaﬁn ﬁﬁﬁ@gﬁ%rrmﬁf{ wﬁﬁﬁﬂmﬁwﬁﬁq@ﬁﬁwwﬁﬂﬁﬁwmmw
.10 9% 9ifd

SWRI Y & ATl 1, 1< 34U 7Y foeedi ¥ ¥ 969 Iuga SR &1 99 HIfo:
1. HYT1 AR I el &
2. HYA 1 3R 11 ST TTad &
3. YT 18! 6. A DY 1704 &

4 PYTITTEd. AP HYT I 98l §

Options :

686340162517. 1
686340162518. 2
686340162519. 3
686340162520. 4

Question Number : 31 Question Id : 68634041151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LIST II
A |Wood vs. Odessa wakworks ltd. 1. |Alteration of Article
B. |C. Chettiar vs. Krishna Aiyanger I1. |Binding Effect of Articles
C. [Kotla Venkatswamy vs. C. Rammurthy] IIl. |Doctrine of Indoor Management]
D. [Roval British Bank vs. Turquaud IV. [Constructive notice

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

CA-TV, B-III. C-1I1. D-1
3. A-IL. B-1. C-IV, D-III
4. A-IIL, B-1. C-II. D-IV

Options :

686340162521. 1
686340162522. 2
686340162523. 3
686340162524. 4

Question Number : 31 Question Id : 68634041151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
g1 o1 11
A [q2 &9 1S9 Joge 1 I [sniéea H uivaad
B. [41. 9feOR 9491 $W1 SR 1L [31feéad &1 a4q YUId
C. [@iea daresard s 9. aaHid | n Mol udeE &1 fgid
D. K10 felfe= §f -9 Jehals V. [T ey

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-II. C-III. D-IV

| o

. A-IV, B-III. C-II. D-1
3. A-IL, B-1. C-IV, D-III
4. A-I1, B-1, C-I1, D-IV

Options :

686340162521. 1
686340162522, 2
686340162523. 3
686340162524. 4



Question Number : 32 Question Id : 68634041152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The quorum for a Board Meeting in case of a company 1s :

1. One-third of the total number of directors in office or two directors. whichever is less.

| )

. One-third of the total number of directors in office or two directors. whichever is more.

LF¥]

. One-half of the total number of directors in office or two directors. whichever 1s less.
4. One-half of the total number of directors in office or two directors. whichever is more.

Options :

686340162525. 1

686340162526. 2

686340162527. 3
686340162528. 4

Question Number : 32 Question Id : 68634041152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S & A H, 918 3T 6% B[ (@RH) BT &:

1. BEEd ¥ $F Ha@] ®1 S &1 U faeTs a1 &l Fex@l B a4 o W S gl
T ¥ $9 ME@] © S &1 TF [0eTs a1 &l Few! 8 3 off o 3ffte
BT T $d HE@] B S &1 S AT al Hexd! 8 I o W FH 8l
P § o HERD] Bl G-I BT U1 A1 & Howe! O 9 o 1 St gl

| )

L

=Y

Options :

686340162525. 1
686340162526. 2
686340162527. 3
686340162528. 4

Question Number : 33 Question Id : 68634041153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following requires passing of special resolution?

A. To declare dividends

B. To alter articles of association

C. To appoint auditors

D. To reduce the share capital of the company

E. To alter memorandum for changing the place of registered office from on state to another.

Choose the correct answer from the options given below:
1. A. B.D only
2.B.C.D only
3.B.D. E only

4. A B only

Options :

686340162529. 1
686340162530. 2
686340162531. 3
686340162532. 4

Question Number : 33 Question Id : 68634041153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

58 9 forud fauiy wEama uid 3 &f Saegddl gidi 82

A, TTHI Uil & |

B. Mfedhd 1% RETH gga1

C. dEgiige 3l Fgfaq d

D. Y-l & Uil 4ot o B |

E. U U g3 I § Uoild Siilad & IR & UAd (HHRSH) ¥ gadid & fag

i fu 0 f[daredl § U Uel 3R &1 90+ DI ;
1.$aAA. B3R D
2. %ad B.C 3R D
3.%dd B. D 3RE
4. PIAASRB

Options :

686340162529. 1
686340162530. 2
686340162531. 3
686340162532. 4




Question Number : 34 Question Id : 68634041154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The sum of the deviations of a given set of obserations taken from median. ignoring + signs. 1s :

1. Zero

| )

. One

3. Least

4, Maximum
Options :
686340162533. 1
686340162534.2

686340162535. 3
686340162536. 4

Question Number : 34 Question Id : 68634041154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1T & ddid- & U de. forgd « Tovd & ToR3igr foear a1 8. 399 |afded Sran sial &
1LY
I

| )

L

EIERE
4. 3ffeEHdH

Options :

686340162533. 1
686340162534. 2
686340162535. 3
686340162536. 4

Question Number : 35 Question Id : 68634041155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following relative measures of skewness is based on percentiles?

1. Karl Pearson's coefficient of skewness

[ ]

. Bowley's coefficient of skewness
3. Kelly's coefficient of skewness

4. Moment measure of skewness



Options :

686340162537. 1
686340162538. 2
686340162539. 3
686340162540. 4

Question Number : 35 Question Id : 68634041155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S8 T QU (skewness) BT D1 A1 W& HT9- TaqS TR TRE &2

1. e (TR o1 [qudl 1 ol

R IRGICARCREGI K RIS

il & fauHdI &1 Tulie
4. fayHd1 &1 Gide 9194

Options :

686340162537. 1

686340162538. 2

686340162539. 3
686340162540. 4

| )
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Question Number : 36 Question Id : 68634041156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s computed by using the formula:

1 —»°

In

W

1. Probable Error of Coefficient of Correlation

[

. Standard Error of Coefficient of Correlation
3. Coefficient of Determination

4. Coefficient of Alienation

Options :

686340162541. 1
686340162542. 2
686340162543. 3
686340162544. 4

Question Number : 36 Question Id : 68634041156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 —+

gH I fbg! U]

Bl & SYUNT 4 B STl g7

R
1. A=GIO1YT & Ul &1 JTog Ffe
2. YT & Ul P HHESD S
3. RO &1 0T

4, [agdy= o1 Ui

Options :

686340162541. 1
686340162542. 2
686340162543. 3
686340162544. 4

Question Number : 37 Question Id : 68634041157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not the property of regression coefficients?

1. The coefficient of correlation and the two regression coefficients have the same signs.

| B

. The coefficient of correlation is the geometric mean between the regression coefficients.
3. If one of the regression coefficients is greater than unity. the other must be less than unity.
4. The regression coefficients are independent of change of origin and scale.

Options :

686340162545. 1

686340162546. 2

686340162547. 3
686340162548. 4

Question Number : 37 Question Id : 68634041157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g9 I I Il JHIgU Ul 1 [G=Iver 751 52
1. G143 VIS A &1 FHIE0 U & Havd 9 &
SO & T U4 &1 FHIYEU O & S BT ST A1 g §
4lg U GHTYAU Ul Udhed 4 3118 Gl §. Al G-I U 4§ & il FlgU

| )
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Options :

686340162545. 1
686340162546. 2
686340162547. 3
686340162548. 4

Question Number : 38 Question Id : 68634041158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following 1s a method used for measurement of cyclical variations?
1. Residual method
2. Ratio-to-moving average method
3. Ratio-to-trend method

4. Least square method

Options :

686340162549. 1
686340162550. 2
686340162551. 3
686340162552. 4

Question Number : 38 Question Id : 68634041158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
b1 uRad & 119 & forg 314 & fapy fafel o1 Suai i sar 8

. 3fafry fafy

e 37d STd fafd

Y4y 3T fafe

4. 3feqad o fafy

Options :

686340162549. 1
686340162550. 2
686340162551. 3
686340162552. 4

a—y

[

L]

Question Number : 39 Question Id : 68634041159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Reserve Bank of India was established by legislation in 1934 through the Reserve Bank of India Act.
1934, The Reserve Bank of India was nationalised in the year :

1.1934

[ ]

. 1930
3.1949
4. 1969

Options :

686340162553. 1
686340162554. 2
686340162555. 3
686340162556. 4

Question Number : 39 Question Id : 68634041159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR void §& &1 -IgAT fau gRT 1034 § YR vod da ififam. 1034 & gRI 31 7S off | YR
feerd deb 1 APl fooy o g3 ol 2

1.1934H

1930H

[

1949 H

L]

4.1969H

Options :

686340162553. 1
686340162554 2
686340162555. 3
686340162556. 4

Question Number : 40 Question Id : 68634041160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : There is an inverse relationship between the demand of foreign exchange and the exchange rate.
Reason R : A higher exchange rate implies higher prices of foreign goods resulting in lower demand for
foreign goods and lower demand for foreign exchange.

In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

686340162557. 1
686340162558. 2
686340162559. 3
686340162560. 4

Question Number : 40 Question Id : 68634041160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3l Sy f2U §: UF S U (Assertion A) & $U & fa1fad € ol gIR1 3UP BRI (Reason R) & $Y 4;
&mﬁﬂqaﬁﬁﬁﬂgmaﬁmﬂéﬁﬁﬁﬁmaiﬁuﬁﬁu@ﬁﬂ@mg

HRUIR: IR [af g = o1 FAfgand § faesh o & SR am o fad=h ora &t aim ot ofR fae=h ga
@1 AT B HH TN

SURIGI Y & HTalle 1, 1< 2y f[deedl ¥ 9 9a8 Iugad IR &1 99 Sifoy

1. A 3R R S T8I € 3R R. A D! U5 AR ©
2. A 3R R G Tal &, Al R. A ©! Jg! RS el &
ATSE AT R G TR
4 ATEI TS E Af TR U ©
Options :
686340162557 1
686340162558. 2

686340162559. 3
686340162560. 4

Question Number : 41 Question Id : 68634041161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a control chart for variable?

1. _1—‘ chart

| )

. C chart
3. P chart
4. np chart
Options :
686340162561. 1
686340162562. 2

686340162563. 3
686340162564. 4

Question Number : 41 Question Id : 68634041161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g @I 91 g = uikad & fau g
X
e
3.133|'|é
4.11p5|ﬁ

—

[ ]

Options :

686340162561. 1
686340162562. 2
686340162563. 3
686340162564. 4

Question Number : 42 Question Id : 68634041162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An endorsement that contains signature of the endorser as well as name of the person in whose favour the
endorsement 1s made is called :

1. Blank or General Endorsement
2. Partial Endorsement

3. Restrictive Endorsement

4. Special or full Endorsement

Options :



686340162565. 1
686340162566. 2
686340162567. 3
686340162568. 4

Question Number : 42 Question Id : 68634041162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ggics [ gyid-idd] o EIER 3R 39 oifdd &1 A1H forbe &l ¥ ygie- HiHd giar 5. 39 &gl Sl

& o1 91 gEiE
W&o ggice-

a2 3ryan quf ggie=

Options :

686340162565. 1
686340162566. 2
686340162567. 3
686340162568. 4

—

| )
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Question Number : 43 Question Id : 68634041163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X purchased a piece of land on 4 January 1978 for 2 50,000. The land was sold by him on 2 September 2021
for 2 17.00.000. The market value of the land as on 1 April 2001 was Z 5,11, 200. Expenses on transfer were
2% of the sales price. The capital gain for the assessment year 2022-23 1s ; [Cost Inflation Index for 2021-22 1s
317]

1. 245496

b2

. Z 50,000

L]

. 2 16.66.000
4. 11.54.800

Options :

686340162569. 1
686340162570. 2
686340162571. 3
686340162572. 4

Question Number : 43 Question Id : 68634041163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X TP Y 4.1.1978 B . 50.000 H WIST IH T 4[#2.9.21 B . 17.00.000 H 87 11 W BT §6IR
Tl 1.4.2001 DI F. 5,11.200 1| RIFICRU 0R G4 [qH3 Gog BT 2% U7 el gy 2022-23 & 70 gl
AT § - [AFTd TITd YaHie a8 2021-22 P [0 317 7]

1. ¥=. 45,496
2.%. 50,000
3.%. 16,66.000

4. %=, 11.54,.800

Options :

686340162569. 1
686340162570. 2
686340162571. 3
686340162572. 4

Question Number : 44 Question Id : 68634041164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the first and foremost stage in the product life cycle?

1. Introduction

| B

. Growth
3. Product Development
4. Decline
Options :
686340162573. 1
686340162574.2

686340162575. 3
686340162576. 4

Question Number : 44 Question Id : 68634041164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS Sita 9b B 578 § B 1 =R 94 U9 YW il 82
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[



Options :

686340162573. 1
686340162574. 2
686340162575. 3
686340162576. 4

Question Number : 45 Question Id : 68634041165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

school of thought postulates that utility can be measured.

1. Cardinal approach

b2

. Ordinal approach
3. Indifference curve approach
4. Revealed preference hypothesis

Options :

686340162577. 1
686340162578. 2
686340162579. 3
686340162580. 4

Question Number : 45 Question Id : 68634041165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fIaR Tyer™ YdeRUN oekd $Rdl & o SUITdl o1 H1u- fehan ol Jebdl §

—

. STHRYT SUFTH

PUYED IUNH
HEIEET 9 3UNTH

4. Yhfed aiigdl g ed-1

Options :

686340162577. 1
686340162578. 2
686340162579. 3
686340162580. 4

| )

[#%]

Question Number : 46 Question Id : 68634041166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The isoquant which asumes strict complementarity of the factors of production is :

1. Linear Isoquant

[ ]

. Kinked isoquant

L]

. Input-output isoquant
4. Smooth convex isoquant
Options :
686340162581. 1
686340162582. 2

686340162583. 3
686340162584. 4

Question Number : 46 Question Id : 68634041166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JHIETE 3% Sl SIS PRE| & 1Y Ted AF § -
1. 3d M ggIdg 9%
2. Hfud FHI@IE 95

3. 3TTd-Fld gHide 9%

4, ARET IId HICIE 9%

Options :

686340162581. 1
686340162582. 2
686340162583. 3
686340162584. 4

Question Number : 47 Question Id : 68634041167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In the short run some factors are fixed while in the long run they become varibale.
Statement II: The payment to an input which is in fixed supply in the short run is called quasi rent.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement [ and Statement IT are true

[

. Both Statement I and Statement II are false

L%]

. Statement I 1s true but Statement II is false

4. Statement [ 1s false but Statement II is true



Options :

686340162585. 1
686340162586. 2
686340162587. 3
686340162588. 4

Question Number : 47 Question Id : 68634041167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 &l o AT MY § )
BYA I: HTPNID TR R TS PR HUIRG ¢ fovg drdiiae R R 9 3HeiRa g Sd g
gmmw%ww&ﬁmwwﬁaﬁw ST BT 39 STUTE T (FiRH 30) Ped

r
SWRIGI DY & HTalid 1, 19 ay 7Y fdeedi ¥ I 998 Sug STk &1 99 HIfo:

1. BYA 1 R 11 &1 el ©

2. BYF T SR 11 I Tad §

3. PYF1 el 6. Wi PYF 11 7TAd ©

4 PYTITTEd. AP HYT I 98l §

Options :

686340162585. 1
686340162586. 2
686340162587. 3
686340162588. 4

Question Number : 48 Question Id : 68634041168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L]

r, - ¥ B e 5
The total cost of manufacturer is € = 5000+ 1000g - 5004~ + =4 . The value of q for which MC = AVC will be :-
3

750

[ ]
Lad
|
L

4. 500

Options :

686340162589. 1
686340162590. 2
686340162591. 3
686340162592. 4



Question Number : 48 Question Id : 68634041168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i1 1 DT AT ® ¢ = 5000 + 1000 - 5004 + 2—§ dl MC = AVC & faTT q &1 914 31 gIme

750
3

Options :

686340162589. 1
686340162590. 2
686340162591. 3
686340162592. 4

Question Number : 49 Question Id : 68634041169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A firm produces chair. table and cupboards. each require three types of raw materials - timber. nails and
varnish. The units of different raw materials required for producing one units of each product is as under :

Product Timber (c.ft) Nails (dozen) Varmish (liters)
Chair 0.7 2 il

Table 1 4 1.5

Cupboard 3.2 6 2

If the firm produces 300 units of each product. find the quantity of each raw material. (in c.ft.. dozen. liter)
respectively would be :

1. Timber =3600, Nail = 1350, Varnish = 1470

b2

. Timber =1110, Nail = 1950, Varnish = 3360
3. Timber =3360. Nail = 1950, Varnish = 1110
4. Timber =1470. Nail = 3600, Varnish = 1350

Options :

686340162593. 1
686340162594. 2
686340162595. 3
686340162596. 4

Question Number : 49 Question Id : 68634041169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U B DIl O quT el a1l g | Y& J o[ ais & o= Uard & Hasddl ¢ - [ca 3rydl
AP el, HId TUT ITH | TP IAIG I TP SHT5 b 00 GNP H= Yl &1 3pRU U UPR & -

JdlG  [decl (@Ed Bie) [@id Go) R @ieR)

ekl 0.7 2 1
=] 1 4 15
O 3.2 6 2

gﬁmmﬁmomaﬂﬁ%mmﬁwﬁﬁwmm@ﬁ%qﬂa
, dleR)

1. ol = 3600, BIel = 1350, ITH = 1470
2. APl = 1110, BId = 1950, TATF = 3360

3. @B ol = 3360, Bid = 1950, I = 1110
4, DI = 1470, BId = 3600, I = 1350

Options :

686340162593. 1
686340162594. 2
686340162595. 3
686340162596. 4

Question Number : 50 Question Id : 68634041170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct stepwise procedure for finding out the optimal solution as per graphical method of LPP would be :

A. Formulate the problem mathematically as on LPP.

B. Find the coordinates of all the corner points of the feasible region.

C. Select the corner point that optimize the value of the objective function.

D. Plot a graph representing all constraints of the problem and determine the feasible region.
E. Find the value of objective function at each of the corner point.

Choose the correct answer from the options given below:
LEADBE
2ZADBELC
AEDC.B
4.4, B G, B DD
Options :

686340162597. 1
686340162598. 2



686340162599. 3
686340162600. 4

Question Number : 50 Question Id : 68634041170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ud 4l 41 (LPP) &1 Mfthara faftl & dgd syad HIYH e &1 HHIIIR Jol SIEUUN § -

A FORYY DI T U1 O W 10 ig =g § ufquifad s

B. JyTeg & & uft farr fag off & e e

c. o fag it &1 fafed oo siiedifaea BavH & O I PGS Bl
D. Y & HI 31Ul 1 UTH R §-I11 Ud YT & et

E. Ud® [-IRIeg IR 3Hleuifded Ba= &1 i Hhre

AR, A TR 6

2.A.D,B.E, C
3.3JA.E.D.C.B
4. A E.C.B,D

Options :

686340162597. 1
686340162598. 2
686340162599. 3
686340162600. 4

Question Number : 51 Question Id : 68634041171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Relation between the nominal rate and effective rate :

K
i ) ..
ref= [H—IJ + 1 . where ref = effective rate of interest

r = nominal rate of interest

k = numbers of conversion periods per year

Statement II: The nominal interest rate 1s also known as force of mterest.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 15 false but Statement II is true

Options :

686340162601. 1
686340162602. 2
686340162603. 3
686340162604. 4

Question Number : 51 Question Id : 68634041171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ref = [1 +fﬂ +1 . e ref = TS B HHIA R
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r = ST & Hichfdd

k = ufd g uRafda safy 1 g
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Options :

686340162601. 1
686340162602. 2
686340162603. 3
686340162604. 4

YT AR 11 ST T ©
YT e B, AT HUF 11 T §
HYF 1 TTad, Af YA 1 T8l ©

Question Number : 52 Question Id : 68634041172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Terms LIST II Meaning
A lonp 1 The market value of goods and services produced by residents in the country plus income earned
i " |in country by foreigners, minus income recerved by residents of a country from abroad
B. |GDP II. |Sum of all kinds of incomes received by the individuals from all sources of income
The sum of market value of all the final goods and services produced in a country during a
C. [NNP 1T : : i
specific period of time, generally one year
gy [t IV. [GNP - Depreciation
Income

Choose the correct answer from the options given below:

1. A-IIT. B-1. C-II. D-IV

| )

cA-L B-III. C-II. D-IV

3. A-IIL B-IV. C-1. D-II

f-%

AL B-1, C-IV, D-11




Options :

686340162605. 1
686340162606. 2
686340162607. 3
686340162608. 4

Question Number : 52 Question Id : 68634041172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1T T 10 S

P ;[ @ FalE g1 Saied Harel @ Sl & SR 4w - faalRrl R e o fold o -
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I o [E FaRIY 3afdl & GRH, SHd: U0 9y # 3aiiea Y+l Yarsdl au1 Setal & areR 4 @1
LR e

ol o (W

EEEIE] IV, [oll T4 Ui - 3/gqedq

FafaiRad foweal § O 9gl STk & 904 SIiol

1. A-III, B-1, C-II. D-IV

(B

. A-IL B-III, C-II, D-IV

A-IIL B-IV. C-I, D-II

L¥5)

4. A-II1, B-1. C-IV. D-II

Options :

686340162605. 1
686340162606. 2
686340162607 3
686340162608. 4

Question Number : 53 Question Id : 68634041173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements:

A. As per absolute - income theory of consumption the current consumption expenditure depends upon the
current and absolute level of income.

B. The relative - income theory of consumption states the proportion of income consumed by a household
depends on the level of its income in relation to the household with which it identifies itself.

C. According to permanent income hypothesis. it is the current income which determines the level of
current consumption expenditure.

D. The life cycle theory of consumption was given by Ando and Modigliani

E. The lifecycle hypothesis postulates, that individual consumption in any time period depend upon
resources available to individual, the rate of return on his capital and the age of individual.

Choose the correct answer from the options given below:
1.A B.D and E only
2. A B and C only
3.A.B.CandD only

4. A and E only

Options :

686340162609. 1
686340162610. 2
686340162611. 3
686340162612. 4

Question Number : 53 Question Id : 68634041173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrEfaRaa © ¥ 98! $YF &1 99 Sy
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E. Siia-Tde OR&eg1 SiAeld @dl & fd [da Sramatd 7 a1 SuHiT, 39 ofdd &1 e ard
e, ST dolt R i O quT Suet o R R s gl

1 B T el © € 9l IR S -
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3.%ad A. B. C 3R D
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Options :

686340162609. 1
686340162610. 2
686340162611. 3
686340162612. 4

Question Number : 54 Question Id : 68634041174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The real factors that leads to demand-pull inflation causes -

1. IS curve to shift downward

| B

. IS curve to shift upward
3. LM curve to shift downward
4. LM curve to shift upward

Options :

686340162613. 1
686340162614. 2
686340162615. 3
686340162616. 4

Question Number : 54 Question Id : 68634041174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN & THITd & I PR -

1. SETTTHT 313 T (1S) b
2, SN 318 T (IS) T
3. YNH! UE UH (LM) Th
4, JURITH T UH (LM) b

Options :

686340162613. 1

686340162614. 2

686340162615. 3
686340162616. 4

Question Number : 55 Question Id : 68634041175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

A ) 3
: ; L X oX s ax
Assertion A : In case of substitute commodities X; and X,. both “P] and “—I; are positive, where—" means
oF, oF, oP,

partial marginal demand of X with respect to P, and Sp means partial marginal demand of X, with respect
oy

to P]
Reason R : In case of substitute commodities, increase in price of one of them causes an increase in demand

for the other provided the price of the other commodity 1s held fixed.

In the light of the above statements, choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

686340162617. 1
686340162618. 2
686340162619. 3
686340162620. 4

Question Number : 55 Question Id : 68634041175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340162617. 1
686340162618. 2
686340162619. 3
686340162620. 4



Question Number : 56 Question Id : 68634041176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R
Assertion A : The diagonal elements of the Leontief matrix [I-A| must be positive 1.e. ajq. 857, 833...8,, should

all be less than 1.
Reason R : If a;; = 1 for some 1. one or more units of the im mndustry would be required to produce one unit of

itself and as such no net profit can be secured under such circumstances.
In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340162621. 1
686340162622. 2
686340162623. 3
686340162624. 4

Question Number : 56 Question Id : 68634041176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & YA AU §: TP HTUHYT (Assertion A) & U H ARG § ol GERT 3HP DRI (Reason R) & T -
@Y A TTRIARE BT 1-A| & [P0 T ISRIAD 517 ANRT 37U ay;. a0,
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Options :

686340162621. 1
686340162622. 2
686340162623. 3
686340162624. 4




Question Number : 57 Question Id : 68634041177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

Purchase cost | 1. |Insurance cost, depreciation, etc.

Ordering cost | II. |[Time gap between placing order and recerving the order
Holding cost | IIL |Cost incurred in purchasing an item
[ ead Time IV |Includes telephone charger, postage, travel, etc.

T REE

Choose the correct answer from the options given below:

1. A-II. B-I1I. C-1. D-IV

| )

CA-IIL B-IV. C-I, D-I1
3. A-IIIL B-1, C-IV. D-II
4. A-IV. B-1. C-1II, D-II

Options :

686340162625. 1
686340162626. 2
686340162627. 3
686340162628. 4

Question Number : 57 Question Id : 68634041177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
A1 T 11
A fdicge | 1 [dWreEm, e i)
B [Ss e | I [oTSx B 9T 3iTex I B @ &id &l §ag
C. fiSn gep | 1L [tdh aig &1 Wile- D1 g
D. s o | 1v. [EeliwiH Wew, S o4y, GrT 1 9 ¢

FafaRad o eal © O 9gl SR & 994 DI

1. A-IL. B-I1I, C-1. D-IV

| ]

AL B-IV. C-1. D-11
3. A-II1, B-1, C-IV. D-II
4. A-IV, B-1, C-III. D-II

Options :

686340162625. 1

686340162626. 2
686340162627. 3



686340162628. 4

Question Number : 58 Question Id : 68634041178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The National Commission on Farmers was formed under the chairmanship of :
1. M. S. Swaminathan
2. P. C Mahalanobis
3. V.X Rao

4. V. V Ramaradham

Options :

686340162629. 1
686340162630. 2
686340162631. 3
686340162632. 4

Question Number : 58 Question Id : 68634041178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep eI @ forw a1 Iy i fooadt srenefdn & &1 U
1. TH. U9, WHHAYA
2. 41 i mgremifew
3.91. .34

4.9l 4t IERIYg

Options :

686340162629. 1
686340162630. 2
686340162631. 3
686340162632. 4

Question Number : 59 Question Id : 68634041179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Food for Work Programme was renamed to National Rural Employment Programme in the year :

1. 1990

[

. 1980
3. 1970
4. 2000

Options :

686340162633. 1
686340162634. 2
686340162635. 3
686340162636. 4

Question Number : 59 Question Id : 68634041179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTH o (oL HISH (BS BIR adb) WIHTH D1 AP A ISHTR YATH A8 -3 oy § &1 1)

1. 1990

b2

. 1980
3. 1970
4. 2000

Options :

686340162633.
686340162634.
686340162635.
686340162636.

AW N =

Question Number : 60 Question Id : 68634041180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was based upon the Industrial Policy Resolution of 1956. Which focused on the expansion of

public sectors.
1. First Five Year Plan
2. Third Five Year Plan
3. Sixth Five Year Plan

4, Second Five Year Plan

Options :
686340162637. 1



686340162638. 2
686340162639. 3
686340162640. 4

Question Number : 60 Question Id : 68634041180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 1956 21 3iTENfTes ifd URdiTa W SUTRG ©, Sff ufsiep & & el IR hisd g
1. U5l Gaquig e
2. dredt derasg gieE
3. To! Uaul gieH
4. SIXI GIaY T TSI

Options :

686340162637. 1
686340162638. 2
686340162639. 3
686340162640. 4

Question Number : 61 Question Id : 68634041181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STEM : Which of the following 1s correct?

A. Theory of comparative advantage was given by David Ricardo.

B. As per the theory of comparative advantage. it make sense for a country to specialize in production of
these goods that it can produce more efficiently than others.

C. Theory of absolute advantage was given by David Hume.

D. As per the theory of absolute advantage. country should specialize in production of those goods for
which they have an absolute advantage and then trade these goods for those produced by other countries.

E. Factor Endowment theory was given by Michael Porter.

Choose the correct answer from the options given below :

1. A.B. D only

| B

.A.B.E only
3.B.D.E only

4. A.B. C only

Options :

686340162641. 1
686340162642. 2
686340162643. 3
686340162644. 4



Question Number : 61 Question Id : 68634041181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 ¥ -9 YT et g0
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H, o1 98 30 I d5a) SdIG IR gadl ¢ |
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E. PR T4 UR e, ATgdhd Ule gRI 4l T 5|

9 B T feedl § € 9l IR S -
1.$Pdd A, B.D
2. AU A, B.E
3. $ddB.D.E
4. PAUA.B.C

Options :

686340162641. 1
686340162642. 2
686340162643. 3
686340162644. 4

Question Number : 62 Question Id : 68634041182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s 1ssued by a bank at the request of an importer. It states that the bank will pay a specified
sum of money to a beneficiary. normally the exporter, on presentation of specified documents.

L. Bill of Exchange

| ]

. Bill of Lending

. Letter of Credit

L]

4. Bank overdraft

Options :

686340162645. 1
686340162646. 2
686340162647. 3
686340162648. 4



Question Number : 62 Question Id : 68634041182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE TP SAaSd! & HagA 1R Ud da gR1 Fiifid fvar orar 31 98 adrar & & fofkiy uere & vegd &t
R, 9 Y I Faiaeal o g6 U ATy i &1 Jas s

1. fafya faum

| )

AU E|
3. W
4. dp sifdfgay

Options :

686340162645. 1
686340162646. 2
686340162647. 3
686340162648. 4

Question Number : 63 Question Id : 68634041183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Bank for Agriculture and Rural Development was set up in the year :

1. 1980

2

. 1984
3. 1982
4. 1986

Options :

686340162649. 1
686340162650. 2
686340162651. 3
686340162652. 4

Question Number : 63 Question Id : 68634041183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PN YT AT [GBTH B AP &b P16 58 T8 5341 Ul -
1. 1980
2. 1984
3.1982

4. 1986

Options :

686340162649. 1
686340162650. 2
686340162651. 3
686340162652. 4

Question Number : 64 Question Id : 68634041184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Quasi contracts are not contracts in the real sense of the term.

Reason R : Quasi contracts are implied-in-law contracts where parties involved do not intend to create a
contract.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

686340162653. 1
686340162654. 2
686340162655. 3
686340162656. 4

Question Number : 64 Question Id : 68634041184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340162653 1

686340162654. 2

686340162655. 3
686340162656. 4

[

Question Number : 65 Question Id : 68634041185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1s an order of the court requiring a person to refrain from doing some act.

1. Summon

2

. Injunction
3. Recission
4. Specific performance

Options :

686340162657. 1
686340162658. 2
686340162659. 3
686340162660. 4

Question Number : 65 Question Id : 68634041185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340162657. 1
686340162658. 2
686340162659. 3
686340162660. 4
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Question Number : 66 Question Id : 68634041186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which doctrine defines 'let the buyer beware'?

1. Doctrine of ultra vires

[ B

. Doctrine of Indoor management
3. Doctrine of caveat emptor
4. Doctrine of Prunity of contract
Options :
686340162661. 1
686340162662. 2

686340162663. 3
686340162664. 4

Question Number : 66 Question Id : 68634041186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@91 FIGIT 'Let the buyer beware' P TRHINT Sl 87
 Yifd-aTel o1 fsid
. 3ick: TeYy @1 R9gid
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Options :



686340162661. 1
686340162662. 2
686340162663. 3
686340162664. 4

Question Number : 67 Question Id : 68634041187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct stepwise procedure of the incorporation of new lumited liability partnership :

A. Deciding the partners and designated partners.

B. Obtaming DPIN and digital signature certificate.

C. Electronic filing of some documents with ROC.

D. Checking the availability of name and drafting of LLP agreement.
E. Issuing certificate of Incorporation by ROC.

Choose the correct answer from the options given below :
1.A,B.C.D,E
2.A,C,B,E.D
3.4, B.D,E;C

4. A.B.D.C.E

Options :

686340162665. 1
686340162666. 2
686340162667. 3
686340162668. 4

Question Number : 67 Question Id : 68634041187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s GIftd S ERR! &) 9Hia- uithd & 93l & Jel 4 $i Ugal-g

A, TIRIER U1 S{fifed WeiaR &1 Hores
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D, T &1 SUCTRIA] B} 619 AT 94T LLP S8 (TR Al
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A BIE.D
3.A. B, DB, C
4 A B.D.C.E

Options :

686340162665. 1
686340162666. 2
686340162667. 3
686340162668. 4

Question Number : 68 Question Id : 68634041188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Focus should be on material information
and resources of the enterprises should not
be spent on recording and reporting of
immaterial information
[ oss of stock 1s recognised in the period in
(which it occurs

I |Going concern

IT. Materiality

C A ssets are not shown at their current

s III. [Prudence
Valuation of closing stock at cost or - Matching

B . . V. [
imarket value whichever 1s lower principle

Choose the correct answer from the options given below:
1. A-I. B-III. C-IV. D-I1
2. AL B-1. C-TV. D-III
3. A-IL B-TV. C-1. D-III
4. A-I. B-II. C-IV. D-III

Options :
686340162669. 1



686340162670. 2
686340162671. 3
686340162672 4

Question Number : 68 Question Id : 68634041188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 T 1
AE@qU Y131 0 A isd BH
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1. A-I. B-II1. C-IV. D-II

| )

A-ILL B-1. C-IV, D-III
3. A-IL B-IV. C-1. D-III
4, A-L. B-IL. C-IV, D-III

Options :

686340162669. 1
686340162670. 2
686340162671. 3
686340162672. 4

Question Number : 69 Question Id : 68634041189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In case of Amalgamation in nature of merger, all the assets and liabilities of the transferor
company become, after the amalgamation. the assets and liabilities of the transferee company.

Statement II: In case of Amalgamation, in nature of merger, purchase consideration may be paid by the
transferee company in the form of preference shares for the equity shareholders of the transferor company.
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

686340162673. 1
686340162674. 2
686340162675. 3
686340162676. 4

Question Number : 69 Question Id : 68634041189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340162673. 1
686340162674. 2
686340162675. 3
686340162676. 4

Question Number : 70 Question Id : 68634041190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At the time of liquidation of company which are the preferential payments under the provision of companies
act. 2013.

A, Govermment taxes

B. Director fees

C. Holiday remuneration

D. Managing director salary

E. PF. Pension Fund. Gratuity Fund

Choose the correct answer from the options given below:

1. A CandE only

b2

.A. Band C only
3. Aand B only

4. A and D only

Options :

686340162677. 1
686340162678. 2
686340162679. 3
686340162680. 4

Question Number : 70 Question Id : 68634041190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340162677. 1
686340162678. 2
686340162679. 3
686340162680. 4



Question Number : 71 Question Id : 68634041191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under which system of Branch Accounting. branch account is opened for each branch separately in the books
of the head office?

1. Stock and Debtor system

| ]

. Debtor System
3. Final Account System
4. Wholesale Branch System

Options :

686340162681. 1
686340162682. 2
686340162683. 3
686340162684. 4

Question Number : 71 Question Id : 68634041191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340162681. 1
686340162682. 2
686340162683. 3
686340162684. 4
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Question Number : 72 Question Id : 68634041192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is not the element of prime cost?

1. Direct Material

[ B

. Direct Labour

L]

. Direct Expenses
4. Overheads

Options :

686340162685. 1
686340162686. 2
686340162687. 3
686340162688. 4

Question Number : 72 Question Id : 68634041192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afefEd & 3 & H-91 ga arTd &1 dd ol o
1. Tiedes gt

& HH

| ]

3. Ude oy
4. 39y

Options :

686340162685. 1
686340162686. 2
686340162687. 3
686340162688. 4

Question Number : 73 Question Id : 68634041193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The break even point is the point at which :

A. There is no profit or loss

B. Contribution 1s equal to fixed cost
C. Contribution 1s nil

D. Variable cost is equal to contribution
E. Total cost 15 equal to total sales

Choose the correct answer from the options given below:
1. A. B and C Only
2. A B and E Only
3.A. BandD Ounly

4. AC and D Only

Options :

686340162689. 1
686340162690. 2
686340162691. 3
686340162692. 4

Question Number : 73 Question Id : 68634041193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yo-fowg g agfige o

AT PIg A A Pl G BIATY

B. 3iRIEM R A1Td & 9 §idl &
C. 3IREM S Bl &

D. YRadl @RTd 32gH & §HHE §idl &
E. ©d dNTd ©d [dshd & |0 gidl §

1. PAAA. BAUTC

2. Pad A BTAYIE
3. Hdd A. BAYUID

4. PAA A, CAYUTD

Options :

686340162689. 1
686340162690. 2
686340162691. 3
686340162692. 4



Question Number : 74 Question Id : 68634041194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Cost control aims at maintaining the cost in accordance with the established targets or standards.
Statement IT: Cost reduction is directed to explore the possibilities of improving the targets or standards
themselves.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false
4. Statement I s false but Statement IT is true

Options :

686340162693. 1
686340162694. 2
686340162695. 3
686340162696. 4

Question Number : 74 Question Id : 68634041194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E S ey Ry gl
B 1: ARTA AU T I5 R AN Bl Al qUl HHe] & S8R 41U 3@ & |
HYA I1: AT Peldl a&dl Sudl HHES! D1 W4 URA 1 UGS BT 3801 = & fau Fa R 3

SIS Y & ATl B, A< f3u MU foieedi ¥ ¥ 98 Iugad SR &1 99 HIfee:
1. YA 1 SR I GH Tol &
2. BYA 1 3R 11 ST T &
3. Y1 9ol ©, Wb DY 11704 &

4. HUYT 1 TTad, b1 FUT I Tel o

Options :

686340162693. 1
686340162694. 2
686340162695. 3
686340162696. 4



Question Number : 75 Question Id : 68634041195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Unfavorable labour rate variance does not oceur because of which of the following ?

1. Shortage of labour

2. Seasonal or emergency operations

LFS]

. Availability of labour in abundance
4. Overtime

Options :

686340162697. 1
686340162698. 2
686340162699. 3
686340162700. 4

Question Number : 75 Question Id : 68634041195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 91 &R 3R e | § fg dRur gl giar 2
1. 49 &1 HHt

2. OTHT 3fUar TS % I

3. Y D1 YAl § SUci/dl
4. TGHY

Options :

686340162697. 1
686340162698. 2
686340162699. 3
686340162700. 4

Question Number : 76 Question Id : 68634041196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sequence of personal selling process.

A. Prospecting and Qualifying
B. Pre-approach and approach

C. Presentation & Demonstration
D. Clearing and follow up

E. Handling objections

Choose the correct answer from the options given below:

1.AB.D,C.E

[ ]

CACBCUE D
3.A.B,D.E.C
4. A C.B.D.E

Options :

686340162701. 1
686340162702. 2
686340162703. 3
686340162704. 4

Question Number : 76 Question Id : 68634041196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oxfeTd fashd Wifshal & el P H B UgHIY

A. GaTHF qUT 3EPHRI
B. W Xiell auT it

C. TR 0T quT He=A
D. JHTY a7 ugTadf
E. JATafral Gy
I fau o fowedl § ¥ 98 I g

1.LABDNCE

| ]

LA.B.C.E.D
3.A.B,D.E, €
4. A CBDE

Options :

686340162701. 1
686340162702. 2
686340162703. 3
686340162704. 4



Question Number : 77 Question Id : 68634041197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of decision involved m developing advertisement programmes.

A. Objective setting

B. Message decision

C. Budget decision

D. Advertising evaluation
E. Media decisions

Choose the correct answer from the options given below:
1.ALC.E.B.D
2.AB,C.E.D
3.A.C B, B.D

4. A.C.D.E.B

Options :

686340162705. 1
686340162706. 2
686340162707. 3
686340162708. 4

Question Number : 77 Question Id : 68634041197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fge =g faxmo= SrEisH § Jferd el o $I ggan-u
A 32w fa=arg
B. Yaur Aoy
c. guie iy _
D. fo9To HeieH
E. g1eAy ({ifgan fAofg

- fau 7 fowedl § © el &1 =2 DI ;
1.ACEBD
2.AB.CED
3JACB.ED
4.4, T BB
Options :
686340162705. 1

686340162706. 2
686340162707. 3



686340162708. 4

Question Number : 78 Question Id : 68634041198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 kilobyte 1s equal to

1. 8 bat

| S

. 24 bytes
3. 1024 bytes
4. 512 bytes

Options :

686340162709. 1
686340162710. 2
686340162711. 3
686340162712. 4

Question Number : 78 Question Id : 68634041198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ '\

| frdlege TaH © -

1. 8fge

| ]

.24 §1gcH
3.1024 §15cH

o
L

12 d12¢H

Options :

686340162709. 1
686340162710. 2
686340162711. 3
686340162712. 4

Question Number : 79 Question Id : 68634041199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): The loss due to normal wastage should be charged to the units arising out of the process.
Reason (R): The normal process loss 1s unavailable because of nature of the material or process
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) is not correct
4. (A) 1s not correct but (R) 1s correct
Options :
686340162713. 1
686340162714.2

686340162715. 3
686340162716. 4

Question Number : 79 Question Id : 68634041199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 B U AU §: TP HTUHYT (Assertion A) & ¥U H ARG § ol GERT 3HP DRI (Reason R) & Y T
MYBYF A: THFY &fd & SR g arell gl &1 Wihdr I 3dd 5H15dl U Welld &1 9ligu|

HIRUT R: HTHIT WishaT §1 ARt siudl Wichan 1 el & RN UREH g

QWi Y- & 3Talie H, 1 QU fasedl # 9 9ad Sy 3R &1 999 Sifey

1. A SR R 3 961 € AR R A DI TEl RS §

2. A 3R R S HE 8. A1 R. A T el IR 81 &
3 AT R AfT R Tt Al R

4 AT TR APIRTBI ©

Options :

686340162713. 1
686340162714. 2
686340162715. 3
686340162716. 4

Question Number : 80 Question Id : 68634041200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Network cover a broad area?

1. Campus Area Network

[

. Local Area Network

. Wide Area Network

L]

4. Metropolitan Area Network

Options :

686340162717. 1
686340162718. 2
686340162719. 3
686340162720. 4

Question Number : 80 Question Id : 68634041200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafead § ¥ ®1H-91 72 ged &3 P =318 Bl 57
1. Y URAr Hedd

. ieel Uial Head

arss ufvar Aead

 BeTifere uRar Acash

| )

L

=

Options :

686340162717. 1
686340162718. 2
686340162719. 3
686340162720. 4

Question Number : 81 Question Id : 68634041201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not included in the scheme of Internal Reconstruction?

1. Alteration of share capital

| )

. Liquidation of Company
3. Variation of sharcholders rights
4. Reduction of share capital

Options :
686340162721. 1



686340162722.2
686340162723. 3
686340162724. 4

Question Number : 81 Question Id : 68634041201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad o 9 oH-91 sfiaike gie gtemr o gl 781 82
1. 327 Yol &1 yerdaH
DYl DT FHIA
3 YRST & HEERI T ufiad
SR Yol B et

[

L]

=S

Options :

686340162721. 1
686340162722. 2
686340162723. 3
686340162724. 4

Question Number : 82 Question Id : 68634041202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following canons of taxation is also known as the 'principle of ability'?

1. Economy
2. Equity
3. Convenience
4. Certainty

Options :

686340162725. 1

686340162726. 2

686340162727. 3
686340162728. 4

Question Number : 82 Question Id : 68634041202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrafefEd & o o1 sH-ar fifHan grgar o1 fRigid & =9 & ot S S g2
1. Afomam

 gfqen
4. fAfgda

Options :

686340162725. 1
686340162726. 2
686340162727. 3
686340162728. 4

[

L]

Question Number : 83 Question Id : 68634041203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who propounded the principle of Maximum Social Advantage'?

1. Adam Smith

[ )

. James Tobin

L]

. John Keynes

4. Hugh Dalton

Options :

686340162729. 1
686340162730. 2
686340162731. 3
686340162732. 4

Question Number : 83 Question Id : 68634041203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S aH FrTiee a1y BT Rsid feg- ufaariad fear g?
1. TsH &y
2. o elfeA
3. 9 DI

4. §11 Slec

Options :
686340162729. 1



686340162730. 2
686340162731. 3
686340162732. 4

Question Number : 84 Question Id : 68634041204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is regarded as the Father of Corporate Social Responsibility?'
1. Adein Cabdwey
2. Narayan Murthy
3. Howard Bowen

4. Friedman

Options :

686340162733. 1
686340162734. 2
686340162735. 3
686340162736. 4

Question Number : 84 Question Id : 68634041204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T[S QHIe STRaldd @ [Uar & =9 § bl o= &rdl g2
1. ST drsast
2. AR il
3. glas did
4. BISHA

Options :

686340162733. 1
686340162734. 2
686340162735. 3
686340162736. 4

Question Number : 85 Question Id : 68634041205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Management Theories/Approaches in chronological order, starting from the
earliest/oldest.

A. Elton Mayo's Hawthorne Studies

B. Systems Approach

C. Taylor's principles of Scientific Management
D. Total Quality Management

E. Henri Fayol's Modern Management Theory

Choose the correct answer from the options given below:

LE CAB,D

b2

E.C.B.A.D
3.C.ELA.B.D
4. C.,E.A.D.B

Options :

686340162737. 1
686340162738. 2
686340162739. 3
686340162740. 4

Question Number : 85 Question Id : 68634041205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiiad vael Rgidldsagl & Samibe oF ([a-aa/ HHad) T sgaid Sify

A, U OTUTS glays areqgq

B. WU 9&id

C. TR & 9P veY & gid

D. Tl ureT vEy

E. 11 Bhara & Hye vey fgia

- fau Y fawedt & ¥ Hel ST o 90 Sivie:

1 B A B D

| ]

.E.C,B.A.D
3.C,E.A.B.D
4. C,EA D.B

Options :

686340162737. 1
686340162738. 2
686340162739. 3
686340162740. 4



Question Number : 86 Question Id : 68634041206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Theory Y [. [David McClelland
Hierarchy of Needs Theory | IT. |Abraham Maslow
Three-Needs Theory III. [Frederick Herzberg
Motivation-Hygiene Theory] IV, [Douglas McGregor

N REE

Choose the correct answer from the options given below:

1. A-IV, B-II. C-I, D-III

| ]

. A-TV. B-IL, C-I1, D-ITT

L]

CA-L B-IL. C-III, D-IV
4. A-I1. B-1. C-IV, D-III

Options :

686340162741. 1
686340162742. 2
686340162743. 3
686340162744. 4

Question Number : 86 Question Id : 68634041206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 T 1
A [Hgidy 1. [Sfds Aacivs
B. [suiidg sndegadl fugia| 1L [sieey Ol
C. [dH-sraxgea gid | n1 pFeie geel
D. [3fitRu m=sd fsid |1V, [BReY H6UTR

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-II. C-1, D-III

| o

CA-IV, B-1L C-IL D-I11
3. A-1. B-II. C-III. D-IV
4. A-I1. B-1. C-IV, D-III
Options :

686340162741. 1
686340162742. 2



686340162743. 3
686340162744. 4

Question Number : 87 Question Id : 68634041207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
Span of Control I. |Degree to which tasks are divided into separate jobs
Decentralization II. [Number of emplovees a manager can efficiently and effectivelv manage

Departmentalization| II1. [Degree to which lower-level emplovees provide input or make decision

T REE

Work Specialization| IV, [Basis by which jobs are grouped together

Choose the correct answer from the options given below:

1. A-IIT, B-II, C-IV. D-I

| )

A-II, B-II1, C-IV. D-1
3. A-IL B-III. C-1, D-IV
4. A-ITL, B-11. C-1. D-IV

Options :

686340162745. 1
686340162746. 2
686340162747. 3
686340162748. 4

Question Number : 87 Question Id : 68634041207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 T 10
v aglia | 1 [U srae ol U o1 i gyd il H [aHTTeid R 1631 Sidi g |
EEECEN] 11 [SHaal & T o9 U He Y gR1 YHTdl ©0 U GUT Hcidl | Yee ] ol T |
EEIEES 111 [U 31T Forg® -9 &R & HaR] 91 UaH @d & 34al g o 9dd o
@1 [ARFTHr| IV, [ SR U= D1l & U gus & U4 THfed il Jai g |l

FafaRad o eal © O 9gl SR & 994 DI

1. A-IIL B-1II. C-IV. D-1

ofofw>

|

. A-ILL B-III. C-IV, D-1
3. A-I1, B-III. C-1. D-IV
4. A-I11, B-11. C-I. D-IV

Options :



686340162745. 1
686340162746. 2
686340162747. 3
686340162748. 4

Question Number : 88 Question Id : 68634041208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The socioeconomic view says that management's only social responsibility is to maximize
profits.

Statement IT: The classical view of social responsibility says that management's social responsibility goes
beyond making profits and includes social welfare.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT 1s false

4. Statement I is false but Statement II is true

Options :

686340162749. 1
686340162750. 2
686340162751. 3
686340162752. 4

Question Number : 88 Question Id : 68634041208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%félam:{ﬁﬂ{“f{%:
HYF 1 : GAON S Saae- Hedl ¢ [P Yay had aY Te &1 HIvi® afdd g

TY 11 : AT Q1 &1 GRIa Sfacied dodl ¢ fd e S JrHTeie qidd arH 3o 9 §g&H3 il
& auT gaTore e it afifad sar el

SRIT HYH P US T 2u 7 fasedi & 98t 9= &1 98 Pifor ;

1. BYTI AR BYT I HI I

2. BYT 1 IR BYTII S T &
3. PYTIIIC APT FYTI 3T &

A BYTI T AP T DU IA T

Options :

686340162749. 1
686340162750. 2
686340162751. 3
686340162752. 4

Question Number : 89 Question Id : 68634041209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct sequence of steps mvolved in the Decision Making process
A. Allocation of weights to eriteria
B. Evaluation of Decision effectiveness
C. Identification of a problem and Decision criteria

D. Development & Analysis of alternatives
E. Selection and Implementation of Alternative

Choose the correct answer from the options given below:
1.CA B ED
2.A,C.E.D.B
3.AC. DB, E

4. C.AD.EB

Options :

686340162753. 1
686340162754. 2
686340162755. 3
686340162756. 4



Question Number : 89 Question Id : 68634041209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fofg-ufcean ¥ Hiere =vull & 981 51 B yg=n-

A HMES B HIR 3fide

B. fufa &t yuifaar &1 geie

C. JHW &1 UgdE aul vy gre s
D. fadedi &1 famr auT fageyu

E. Iraqﬁ'eﬂllﬁi 4 dﬁl?-ITrqu
i faU U foedl § 9§ TEl 3R &1 99 DIl ;

1. CABED

2.ACED.B
3. ACDB.E
4. CADEB

Options :

686340162753. 1
686340162754. 2
686340162755. 3
686340162756. 4

Question Number : 90 Question Id : 68634041210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One 1s labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): Zero base budgeting forces manages to plan each program package a fresh.
Reason (R): Balanced Scorecard helps ensure the alignment between a company's strategic objectives and its
operational activities.

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4. (A) 1s false but (R) 1s true
Options :

686340162757. 1
686340162758. 2



686340162759. 3
686340162760. 4

Question Number : 90 Question Id : 68634041210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A9 3 FYA UL T : TS § S0Py (A) T =0 1 [0fEd § df %1 396 01 (R) & =1 1
STEYA (A) : Y SHTUIRT Toicd FHUS Bl TS HRIHH g U KX I TioH] &3 IR ad ol

PRI (R) : YfCTd 3P U= U DI & IUFIID F5dl aul SHD1 Y=re fharsii & T Figd gaieH
B o el Bl ¢

SURIGd Bl &1 $Ed gU Fafeiiad faeeal o Sied 3o &1 997 Siforg
1. A R R G 90§ SR R, A P gl Ul §

A SRR EH TU© IR R. AP Ug| UR 8l &

ATITABIR ST

4 ANTITAPTIRIATE

b2

L]

Options :

686340162757. 1
686340162758. 2
686340162759. 3
686340162760. 4

Question Number : 91 Question Id : 68634041211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What are the two main branches of insurance?

A Life Insurance
B. Fire Insurance
C. Marine Insurance
D. Miscellaneous Insurance
E. General Insurance
Choose the correct answer from the options given below:
1. A. E only
2. A, Conly
3.B. C only

4. A. D only

Options :



686340162761. 1
686340162762. 2
686340162763. 3
686340162764. 4

Question Number : 91 Question Id : 68634041211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 1 31 g Wy B § 2
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Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): The general rule of 'Caveat emptor’ does not apply to insurance contracts.
Reason (R): The insurance 1s liable only for those losses which have been proximately caused by the peril
mnsured against.
In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

3. (A) 1s true but (R) 1s false

4, (A) 1s false but (R) 1s true

Options :
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Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Endowment Policy run's only for a limited period or up to a particular age.
Statement IT: For a valid nomination. some consideration is essential unless made by way of gift. But
assignment does not require any consideration.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :
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Which of the following is not component of audit risk?
1. Inherent risk
2. Material risk

3. Control risk

4. Detection risk
Options :
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Which element of auditing establishes the correspondence of actual facts or details with those represented in
accounts?

1. Vouching

2. Valuation

3. Internal Check

4. Verification
Options :
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Mr. Amit is a charted accountant in practice. His sister's husband holds equity shares in ABC limited. State
whether Mr. Amit is qualified or disqualified to be an auditor of ABC limited as per which section of
companies Act, 20137

1. Not Disqualified as per sec -140 (3)

-2

. Disqualified as per sec-141(3)

L¥ 5]

. Not Disqualified as per sec-141 (3)

=

. Disqualified as per sec 140 (3)
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The process of evaluating each market segment's attractiveness and selecting one or more segments to enter is
known as-

1. Market Differentiation
2. Market Targeting
3. Penetration
4. Positioning
Options :
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It 1s defined as any paid form of non-personal presentation and promotion of ideas, goods or services by an
identified sponsor. What 1s 1t?

1. Sales Promotion

2. Marketing

3. Publicity

4. Advertising
Options :
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Which of the following in not a type of flow represented in a channel of distribution?

1. Cost Flow

[ )

. Produets Flow
3. Cash Flows

4. Marketing Information Flow
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It s a pricing strategy in which a product or service is set at a very low price with the intention of driving
competitors out of the market or creating barriers to entry for potential Competitors.

1. Penetration Pricing

2. Skimming Pricing

[F%]

. Competition Oriented Pricing
4., Predatory Pricing
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